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We do not redeem - 179 N

OVERVIEW

noY 21 stated that the dispute, whether one who ate noo2 WP 2w yam is 231 or not,
depends on whether we maintains 2°2%3% 12°87> DW7pn DX PO or not,' and
everyone agrees that nosa ynam is X372 0 (like ¥2°%37 °01 ). Our NHOIN explains
why o°w7p are considered worthless if we maintain 131 7719 PX.

nooIn asks:
= DIYN) 129 PRT 2) DY GN PN 12929 NN

The "' is astounded! Even if we maintain 121 9719 1°8, nevertheless he should

be 5y -
- 2AN3Na 99 HMTaY 9199 99N NYYI 9IVIY INRY NNT

For after the y»n is burnt and it becomes ashes, it can be redeemed and it is
permitted to derive benefit from the ashes —

MooIN answers:
- A9’ 793 KIMY KXY *5 991 Y NY 1PWIAY NYDY 194 19957 91290 Y

And one can say that since the state in which the wpn v ynn is now, it is

worthless; the laws of 779°p» are not applicable -
= AYNN 1N 1PYTPN PR ANIN INOIN D7 NNYL 133 1399

And this is also the reason why we cannot be w7p» a woman with any 71058

NI -
- 991 199N 199N Y57 23 Yy 9N

Even though the rule is that all X317 >110°X which are required to be burnt, their

"If we maintain that 0°253% 19°9871> D°w7p NX P70 then this WP YW y»n has a value (for it can be redeemed in order
to give it as food to one’s animals [dogs]), therefore the one who ate it caused a loss to w7p7 and he is Hvn. However
if we maintain that 0°293% 12°287% WP DR P79 PR, then this WP is worthless (since it will not be redeemed, for
the ynn is only fit 0°275% 12°0x7%), therefore whoever ate it caused no loss to w7pi and 71 X2 (see 72° 27 7"7 °"wA
R A,
% See X now who (initially) explains that this does not mean to actually redeem it (since 12°I8772 WP DX PO PR
0'275Y), but rather N9OIN is saying since N 719X 10w 95 (see footnote # 3), so the ashes are no longer w7pi and
he can sell it, etc. and it has a monetary value. [This follows the view of 7°¥»® "3 on 2,75 who maintains the (even) by
w7pn only those NMwpn which are 71513 1Y are TOKR 029 (even after they are burnt), however 719X MWwIpn onod
nn.] W'y, in the X"sw that it can even mean 179 according to those who disagree with 7 ynw ™.
3 See x,72 77mN (and shortly in this mo0N) that 7N 779K POWIT 25
4 Presently (when he ate the Y1) it was not burnt, and since we maintain 121 2°w7p50 DX 1710 X, the Y1 is worthless
for it could not have been redeemed (immediately prior to his eating it), therefore there is no 72°vn.
5 See the mwn in 2,39 7MN; among the 1"97W1 are 102 y1n (according to *"7) and XNV 717N, etc.
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ashes are 7X1772 9N, so seemingly this object has value, for it can be burnt, and then it can
be used, nevertheless since when he is w7p» her with these X177 *M0°R, it was not burnt and being
7R17 0K they are currently worthless, therefore she is not nwTPn, since she did not receive a
avINs MY —

mdoIn clarifies this ruling regarding 7X17 *MOR2 AWK “WITP:
- "991 Ssa 199923 19229 DN 927 X 1DPIN)

And even if we maintain (like w"9) that something which causes a monetary loss

is the equivalent of money, and therefore he is Y¥¥ if he ate nooa wpn v yan,
nevertheless even " would agree that NWTPR 7R ARIT *NOR2 AWK WIPNAT —

moon differentiates between the two cases:
= 1Pya XINY 1190 NDAN INNRY 1N ONNT MNIT XD

They are not similar for there (by nooa wpn >w ynn 921x1) this very same ynn

as it is now, is fit to be X172 M after nED; however by X317 >10°X2 WIPnHT, this 1"70°K
the way it is now will never be nX172 IMn unless it is burnt and becomes ashes (which is
something entirely different from its present state); this is not considered a 1% M7 727.

moon offers an alternate difference between 171% 07137 127 and 7IR17 20K WIPHT:
= NI 99YD9NA PPYUTPN PRT NN 99D W I

And additionally, we can say; this rule that 7N17 S0°R2 PRIPR PR, even if we
maintain >»7 17103 1AN? 0N 12T -
= 99N NIYWAY NVIND MY N2 NYDT NI 1N

Is in a case where it will not be worth a 7192 when it turns into ashes; however
if the ashes will be worth a 70175 she will be nwTPn if we maintain *»7 %2 A2 ONAT 127,

nooIN asks:

10: 37 779739 N9 193993 510 8N AYP NP 1PN
However there is a difficulty according to the first answer; but the 7X17 *M0°X
are fit to be used as is if it is used RIT V72 RPW. Our MdOIN does not answer this last

® See the Xm3 on the '3 Ty that if we maintain *»7 11mm3 anh 3 727 then if one eats 092 WIPR YW v he is Yy,
for since this y1n would be X172 707 after oo, so by eating it now during 1105 (where it has no value, nevertheless),
since you are causing a loss of value for after mod (it is 23 a loss of 11n), it is considered *»7 1715 and you are 3.
7 Seemingly the same should apply to 7X377 *110°K2 w7pnA since this 7837 MO°X will be permitted 7x372 after it is burnt
it should be considered a 17%% 237 127 and she should be nwmpn.
8 The first answer was that "n7 11M1d 1IMn% 0T 127 is only if it is 1% oM the way it is now (without burning it).
% See the X113 on 2,73 that there is no NP7 if one derives benefit from 78377 *110°X not in the usual manner. Here too
the woman can have 7837 from this 7817 10X if she does it 7775 X?w. See “Thinking it over’.
' However there is no difficulty according to the second y17°n, because (presumably) it is not worth a 719 if it is
used 7RT 7T ROV,
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question.

SUMMARY

The value of w7pr is assessed at its current state, not what it will be worth after it
changes (by being burnt, etc.) even if we maintain °n7 PRd PMA? 2T D27,
Alternately we consider its value when it is burnt (provided it is a 70179 MW).

THINKING IT OVER

mooIn asks that a woman should be nw7pn with 7RI *MOR since it is "X if she
uses it X177 7770 X9w.!" However even though one is not Xn» kT A7 if it is Xow
7RI 7772, nevertheless there still remains an 312772 MO°K, so how can she derive
any benefit from this 7x17 *no°x?!'?

' See footnote # 9.
12 See o1 WX and Dy X9N.
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